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4 5 55 6 .65 .7
Presidential Turnout

N: 15, mean: .5796754201253255

15 2 25 3 .35
LC5 Chair Turnout

N: 15, mean: .2453928053379059

15 2 25 3 .35
LC5 Open Seat Turnout

N: 11, mean: .2807410366155885
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Voting Summary Stats

4 5 6 7
Presidential Block Voting

N: 15, mean: .5034651279449462

]

4 5 .6 7 8

LC5 Chair Block Voting
N: 15, mean: .5617888947327931

45 5 55 6 65
LC5 Open Seat Block Voting

N: 11, mean: .5505480874668468
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84 86 88 9 .92 .94
Presidential Efficient Voting

N: 15, mean: .9073585311571757

6 7 8 9 1
LC5 Chair Efficient Voting

N: 15, mean: .8955201705296835



